ADVANCED PLACEMENT PHYSICS C EQUATIONS

MECHANICS
Ve =V tat a = acceleration
1 5 E = energy
X=Xt Vol +5ad F = force
2 ) f = frequency
Vi =V T 2ax (x _x()) h = height
S = I = rotational inertia
a= z_ = Frer J = impulse
n " K = kinetic energy

k = spring constant
- dp pring
F= dr { = length

L = angular momentum
J = [Fdi = ap m = mass

P = power
p=my p = momentum

r = radius or distance
|Ff| < #|ﬁN| T = period

t = time
AE = W = J‘ Fodi U = potential energy

v = velocity or speed

Kzémv2

dE
P=—

dt
P=F
AU, = mgAh

2

y
CZCZTZ(OZV
T=FxF
—-_2%_%1161
ST T

W = work done on a system
X = position
1 = coefficient of friction
6 = angle
T = torque
® = angular speed
a = angular acceleration
¢ = phase angle
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ELECTRICITY AND MAGNETISM
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A = area
B = magnetic field
C = capacitance
d = distance
E = electric field
€ = emf
F = force
I = current
J = current density
L = inductance
¢ = length
n = number of loops of wire
per unit length
N = number of charge carriers
per unit volume
P = power
Q = charge
g = point charge
R = resistance
r = radius or distance
t = time
U = potential or stored energy
V' = electric potential
v = velocity or speed
p = resistivity
O = flux
k = dielectric constant
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ADVANCED PLACEMENT PHYSICS C EQUATIONS

GEOMETRY AND TRIGONOMETRY
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Right Triangle
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A =area

C =circumference
V =volume
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CALCULUS
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VECTOR PRODUCTS

AeB = ABcos®
|A X 1§| = ABsin0
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